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<  Multiple Choice Questions :-

ing is a biotic components \
(b) Air (d) Soil

(¢) Decomposer
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a. Stone
10. Light is a form 0
a. Energy V . M3
11. Whiche " FW-

a. A circular disk . : c. Ice-cream conb d. A ball

12. Shadow is formed by

a. Transparent object b. Translucent object c. Opaque object d. All of these.
13. Combination of two or more cell in series is called

a. Dynamo b.Transistor c.Battery d.Insulator

14. Filament of electric bulb is made up of




a. Tungsten b.Iron c.Copper d.Aluminum
15.Which one is not a good conductor of electricity?
a. Copper b.Silver c.Plastic d.Graphite

16. Closed and continous path of electric current is called

Clrcult c. Connector d\[
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21. Wh‘

a. Orange pe
22. To reducesplastie
a. Burn it

it in sea limize its use

23. Examg

a. Crockery pieces  b. Dal packets c. Vegetake peels  d. All of these.
24. A person who separates articles into various categories and sell for recycling

a. Vegetable seller  b. Kabadiwala c. Factory worker d. House-cleaner




+ Fill in the blanks.

(1) Saline water, hot air and sand are Abiotic components of a habitat.

(2) The habitat of plants and animals that live in Water is called the aquatic habitat.
(3) Adaptations enable a plant or an animal to live in its surroundings.

(4) Plants and animals that live on land are said to live in Terrestrial habitats.

(5) The presence of
called adaptati
(6) The habitats e plants or animals that live on land are called_terrestrial terrestrlal

(7) The ha ants and animals that ]i W. called aquatic hab1
(8) Soi air are the ablofﬁ {&ﬁ ?Wz \

ific features, which enable a plant or animal to live rtlcular habitat, is

9 C es in our surround% t make us responds to them aﬂgcﬁled stimuli.

(10 fan oqugsef a par‘off around a fixed point is known as c ar motio

(B A bbdy repe#.g its motion after certain 1ntervaI'iof time is in_periodic moﬁ)n
N &R 0. %
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(23) Ama D poles.

ALer i
Question 2. M3 or ‘False’ for fellowin és tateme

(4) A cylindrical magnet has only one pole. [F]

(5) Artificial magnets were discovered in Greece. [F]

(6) Similar poles of a magnet repel each other. [T]

(7) Maximum iron filings stick in the middle of a bar magnet when it is brought near them. [F]
(8) Bar magnets always point towards North-South direction.[T]




(9) A compass can be used to find East-West direction at any place.[F]

(10) Rubber is a magnetic material. [F]
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3.
Column A
a. Moon . Transluce
b. Sun ii. Opaque bi
c. Brick iii. Reflecting surface
d. Mirror iv. Luminous

e. Tracing paper

'v. Non-luminous




(@) = (v), (b) = (iv), (¢) - (i), (d) — (iii), (e) - (D).

4.
Column I Column II
(a) Magnet attracts (1) rests along a particular direction
(b) Magnet can be repelled (i1) iron
(c) Magnet if susp freely (ii1) by another magnet
(d) Poles of t t can be identified by|(iv) iron fillings
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Fig. 9.1
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a) itis th of o offspring of their own kind

(b) leaves can float on the surface of water.
Ans. (a) Leaves are narrow and ribbon like.
(b) Stems/stalks of leaves are long, hollow and light.

6. Mention one adaptation present in the following animals:
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(a) In camels to keep their bodies away from the heat of sand.
(b) In frogs to enable them to swim.

(c) In dolphins and whales to breathe in air when they swim near the surface of water.

Ans. (a) Long legs and puffed feet

(b) Webbed feet

(c) Blow hl nder developed lunin, AN § N 43 \\
\"t" "q
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habitat.

a hab1tat‘7 Ji,'ll
rroundln e plants and animals live, survive and duce 1s ca

r 7 \Le 1§

cactus ted to survive in a desert??

Adaptation of cactus i ,
Leaf is mgdiﬁed to spige to reduce tra{spl ati
the stems.
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P
)
)

"f.'n
-
L]
Thelheight ga person is 1.65 #
=
]

s :1.65@,’%165?
1.65 m-ﬁl_ = mm) "
v

\
y
/4
7

that has

—

ance be Radh. n 50 m. express\.?xstance i
so-f@km =3.250 = 171008km)
P

length o tfi g‘bt! the scale at
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An‘
11. Whilg me \7
and at t .
Answer: Leng‘

12. Write thessi
been switched ot

Answer: Similaritiess C yicycle and ¢ ¢ fan both s
1gr motion but ceiling f@do

13. Why could you not use an elastic measuring tape to measure distance? What would be some of
the problems you would meet in telling someone about a distance you measured with an elastic tape?

Differences: - Cycle mov ove 1n rectilinear motion.

Answer: Elastic tap will not give accurate measurement because it stretches in length and reduces in
size when not stretched. While telling the measurement taken with an elastic tape. We have to tell
whether the tape was stretched and by how much. This is very difficult.
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14. Give two examples of periodic motion.
Answer: Example of periodic motion-
(i)Pendulum

(i1)Child on the swing.

15. Observe the picture given in Fig. 11.6. A sheet of some material is placed at position ‘P’, still
the patch of ligthed on the screen. What is the type of material of't eet‘7
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Fig. 11.9

The shape of the shadow obtained in two positions is shown in Fig. 11.10.
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Fig. IX.10

Match the position of the torch and shape of the shadow of the ball.
Ans. A
, 2RAVAN SNAg, \
ol Ap
If the ncrdent 1 rnaller the shadow is longer. On the o@ hand, if th
1ncrd 1S brgger shadow is smaller. This explains, why our sh s are lon

d evemna" smalle nﬁ‘:& noon..

A dent cg?ered a torchjwith red cellopthe sheet to obtain red light. Using fﬁ’e red light, sh

tai shad of an opaqug object. She repe‘ats.,this activit nd blue Iwht Wi
1 f the 1 t affect the shadow? Explain.
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\ ing crrcurts‘k‘ﬂﬂﬁ@fgﬁarrt‘ff‘ 12.4, the ce

22.In
raprdly‘7

A B C
Fig. 12.4
- L

Ans. In arrangement A, the cell will be used up very rapidly.

23. Fig. 12.5 shows a bulb with its different parts marked as 1, 2, 3, 4 and 5. Which of them label
the terminals of the bulb?
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Fig. 12.5

Ans. Labels ark the terminals of the bulb.

0 ould an eleCtI‘lClﬁlplﬂ'hM Mw&le repairing an el&N\c at your
bber glove l%::llators This saves the electricia Ecﬁl ettmg an
’ lectrlc1 es rubber gloves, while repairing an electri tch

b, The es of the t3 (sﬁe screwdrivers and pliers used by elee'%lan for
Iy hav astic or rubb vers on the n you explain why?
f lectricity. Hence they protagtlagamst

Questi
home?
Answ
That i

1
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* Plastic ﬁ'd rubber, bogh 1s bad conduct

: T'}#
woulc’ou test whetlier ‘tea dust’ is adulterated

or not. L

ial will get attraded tot

gfiet and h%e will prove the a
m
m
ho dippe bar magnet in ut. He fou.qd that iro
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Fig. 15.4

(1) Which region gnet have

"gon ﬁl‘nﬁl ? to it?

(i1) What are thesc'ie sicalled?

(i1) These regio

Question 28. Write any two properties of a magnet.

Answer: Properties of magnet:

(a) Attracts object made of iron, nickel or cobalt.

(b) freely suspended magnet always directs north-south direction.
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Question 29. Where are poles of a bar magnet located?
Answer: Poles of a bar magnet located at its two ends.

Question 30. A bar magnet has no markings to indicate its poles. How would you find out near
which end is its north pole located?

Answer: To locate its north pole, we would do the following steps:

uspended freely from the middle with the help of threa
to comes into rest.

(1) A bar is ta
(i1) Allow t
(ii1) The N f the magnet will fac n;b’ch pglion and South pole
directio F Q}Iﬁfa 2 Iy A
(iv) i e north pole of t net with the marker. "q.ﬁi'l
st

ou are g}‘,ﬁ an 1r‘1 ?*lp How will you make it into a ma@

w\

Ll

e south
teps to e an iron strip into bar agnet.

-~
7=
= "‘..a
] -
izontally only in one difigctio
bbing fiém the iflitial

gess in ’
]
J

at strip oﬁyon 1s taken.
e iron strip, a bar m
en you@ached the e

et is placed a rubk%'d against it
of the strip, lift the magnet

is process is repeated m
r this,

Ea rms ST S

Dig pit a'flﬂab ith garbaBO(ii) ............ I

(&
e

33. Correct the definitions of certain terms given below by changing only one word.

5
.?"

Ans. (i) verm1c

(i) garbage d

(iii) recycle

(1) Compost: Substances converted into manure for use in industries.
(i1) Landfill: Garbage buried under water in an area.
(1i1) Recycling: Reuse of unused material in the same or another form.
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Ans. (1) change industries by fields or agricultural fields
(i1) change water and write soil
(ii1) change unused by used

34. Provide the suitable term that expresses the meaning of each of the following statements.
(a) Greeting ¢

if from newspaper.

(b) Content aste bins.

(c) Worms g certain kinds of was

(d) An a lot of garba%‘ilﬁﬁl R?gspreagm ered with soil.

Ans. ing ?ﬂ-

(b) ~y

1compost1 ' - i §
el \/ |

following kinbs?ga"bage and how? \
rotting smelljpgarbage \

what uswn you put t

)
0

leaves collected in a garbage
newspapers

S Convéinto compost.
i11)

as marw
cle themnd
'E.
\ iti tert rlend threw

the raft of
d threw (xsgfe papers
polythene ba @sh?ew it on the
ounthi i i sib e? W, you have
c%

tter
d.
e her

eln

house.
her pla

Ans. She can w 0i it | APEr | 1ng many
handicraft items.
37.(a) Collect

(b) With the help of.3 1€ piec
see any diffe p.the mate ed paper and ar 1€

Answer: (a) Papers without having plastic coating on it can bekecycled.

(b) The recycled is slightly yellowish in color than the new sheet of paper. Recycled paper is also
rough and of low quality than new sheet of paper.

38.(a) Collect different kinds of packaging material. What was the purpose of which each one was
used? Discuss in groups.
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(b) Give an example in which packaging could have been reduced?

(c) Write a story on how packaging increases the amount of garbage.

od items. \ \
-8

Answer:

(a)

Paper packet

ery

clothes, dresse

T
show piai.
Sy
deli@é items.
B A A—
" o

) If people stdrtéd carrying
n e will be no need fo
ve bee educed.

o

eir own carry bags for;‘yuying groceries and Vegeta’af&s and frui
acking those ma;e;i‘als' by usin thus the glckagi

c) Pagkaginglificrease the amo ones the produgt is deligered
utlllse These useless pac just add loads to the
e. Man ckaglng mat astics
nblodqgi.adabl

\

ou thmkﬁ.s a better to us izers? Wh.x:’
(l) I

s' 1 thi mical fert1hse Eecause
(1) It

creates no pollﬁqﬁ‘-
(iii) Th ‘and do ﬂﬂoﬁm any chemicals
(iv) It is ] mlcal fertlhser
(v) Soil will'ne

$ ility if we use compost.
s Long Ques ' :
1. Like many ani it 1 Iving#organism. Give 2-3

7/

Ans. Both living organisms and car move but the difference ishlat living organisms move on their
own as they have life. But car is a non living thing which is operated by an individual. It requires
fossil fuel to move . Another reason that proves that car is not a living thing is the absence of life
processes like respiration, reproduction, excretion, ingestion, growth etc which are the
characteristics of living things.
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2.What are the adaptive features of a lion that helps it in hunting?
Ans. Adaptations of lion which helps it to easily catch its prey are as follows:

(a) The colour of its body and mane is brown which helps it to hide amongst bushes and open area
thereby avoid detection by its prey.

allow it to know the exact location and movements prey

(b) Eyes placed W i i
(c) Power d long claws enable it to catch and kill the prey.

ach to catch 1‘;5{@1&'6{1@ nec? 'ﬁﬂﬂgﬁnﬁ‘lﬂt; front camn\\n

tch 1s b ayed at mght in a stadium with flood 11&0N You c
sh oy ootball k t the i ?d but cannot see 1ts shadow when 1t cked hig

Il lying m ound because the ground asa sc\’t.
high, the ground whi y fro

is acting as a screen gets

fomied on the gr
B N ;

(d) Its

can see shadow of
en the f all 1s kicke
tball hence no shadow of the football will

dent h. a ball, a screen a
the scr: by placing them at

‘\My be %creen w-ere t!e i

L~ .
(i1) of lig m the 1

(lll\ is N

orch is
and shape wer®
formed in each ca
reasons for y@

el screen on the?g

L]

> 'L:t
Wy pa
MNEHAH T

e of mushn cloth and that of a transparen

TEmEO®E

Fig. 11.12
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Ans. The sheet of plywood is an opaque object and will form a dark patched shadow on the screen
because it completely obstructs the path of light.

Whereas the piece of muslin cloth ias a translucent object and will form a lighter shadow because it
allows light to pass through it partially.

The transparent glass will allow the ray of light to pass through it and hence does not form any

shadow.
6. Four chil sure the length of a table which was about 2 m. Each of the
ways to m Rh“#“ 5”4

Swy
(i) Sa easured it with a hﬁ._hﬁ'tre long thread. "'q‘l'i.'l'

ifferent

(i1) easuredal"%‘rth a li ;1 scale from her geometry box. 1‘.‘"

§ -~
i ] measu#nt using her hand span. i ‘%' ’
i measﬂ%:.d it using aj5-m long meas{ri&taﬂe U.' ’

studenf§ measured the length of a corrrd-o"r and rep urementﬂ“ he va
easurements were diffegent. What could be the r ce in their measure
jon any &gee)
ﬂ

ifferenﬁn their measuremen

m
heyimay hav&gsed

ce use three of th d m le leng o
‘1 e that th d of rridor tb sible to mé@

sed for meas&fWay be

iv. Th y or not proper ardized.

8. Boojmel ingle piece of connecﬂ'ﬂA wrre Without cuttin ‘Jﬂl he
be able to he ? Explain with the help of a circuit diagr;

, the base,of the light b s to the pQsi ﬁnal of the cell

i ides of th lig n to the ngs
ith.the llght bulb béin part ofthe )

ighti

Ans.As shown

and the wire e
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9. Fig. 12.10 A and B, show a bulb connected to a cell in two different ways.

Fig. 12.10 f AN 5 HA
Sk
the dlrectlw e current ‘through the bulb in bot ases

HW
(QtoPo

ilLghte bulb g in both the !se!" !
the brlﬂness of the glommmg bulb p
1 In case%?Flg 1 current flowing will

wilig will be from P to Q ,
ctrie cell. 3

mn
m
r magnﬁcut 1
- —— ﬁ H

the direction of current‘%pugh it’

roni to P. whereas in case of Flf‘z curr:
s current always _g.vgdfrom positi gative teﬂnnal ofthe

i) Y;
1)

A

— Fig. 13.8 #‘:

"W o
will th‘e ag.individual 5’1&!&&&& H’: of these tw

activity t yo

Ans. Yes,The Ms

This can be proved by doing the test for repulsion. If we bring the north pole of the left magnet
towards the red end of the right magnet then they will repel. Which proves that the red end of the
right magnet is north pole and hence getting repelled by the north pole of another magnet. Therefore,
the two pieces act as individual magnets.
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11. Suggest an arrangement to store a U-shaped magnet. How is this different from storing a pair of
bar magnets?

Ans. U shaped magnet ( similar to a horse shoe) is stored by placing a metal plate across the two
poles of the U-shaped magnet so that the magnetic field remains within the magnet.

Bar tored by pl *Ewo metal plates and one woode% s per the fo
The ock w111 ent the 1nteract10n between the bar magnets#
.-'l
vl
WOODEN METAL > ﬂur'.
BLOCK PLATES =

Y E
2.

ite 3 se ences on what ¢ h‘seetbe follo#ng.
plckel‘l" E

eat1
Foull odour e atmg p
_'q.
must be’#ry poor s to remove th -ﬁf;age genkrate
ot T job is qui sky fi posed to ha I'substa
ses caused by and 11 micro@wms i
stic 1t will

y many
}-
(b) Plastic'is non-t 'degradable%% very harmful W If cow in
igC8tive 8ystem which le M death

chock t‘ ’
. 1 &lt will soon

(c) Large qua
articles? = 2 .
Ans. The paper pulp can be solidified*®y using plaster of Parikr a layer of clay over the layer of

paper pulp. The structure of paper pulp can also be covered by a layer of cement to solidify it.This
is also known as papier-maché ,its a paste of paper pulp and clay to form toys and boxes.
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14. Recently, a ban on plastic bags has been imposed in many places? Is the ban justified? Give
reasons in three sentences.

Ans. I strongly believe plastic bags must be banned as,

They are often used to fill garbage in them and are thrown away in the open. It proves fatal for the

stray animals which consume this.
elessly end up in the drains and finally choking them

Plastic bags thro
They glve l gases on heating or %8 auses respiratory pr also
result i on Therefore éﬁﬂt&: ned. Ins &lfs Jg plastic bags \

cotto per or jute bags
-6‘

Q‘

3(

17. Ans‘

(a) Why shoul

(b) Who, out o

"J
‘ ’....- | i
ould w: t burn plastic items? %

ing of plastic releases 1 gases intOyth: atmosphere leading to a1 lutlo
diseas he burning process is not t%at asy and the burnt particles may eaten up

imal§ which may choke thelr system and ca se thefr death. The articles are toxic a
S
ain. -‘

at hap}ﬁgs when

oil poll@ition.
king n%lum is made to flow

ticide otor oi
eaves, c&t;on S

clogs tlf%'res in the s

lu microbe

3

(b) Every member should"de b

(c) Earthworms. They convert waste from plants and animals or their product into compostand
therefore known as farmers friend.

18. Discuss:

(a) Is garbage disposal the responsibility only of the government?
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(b) Is it possible to reduce the problems relating to disposal of garbage?

Answer: (a) No, garbage disposal is not only the responsibility of the government. It is sole
responsibility of both government and the people.People should not litter at public places. They

."jF] .)Mhi"'- \
N
should M for the effe&gﬁ&iﬁoﬁheﬁvﬁﬁﬁﬁu ed at home, so tals etc.
A — - i-"?
(b) Yes! itggpossible to @g‘ the problems relating to disposal of ga by taking g
e & -
& A ’
e

} |

uld co about generating less waste products and creating awarén€ss amon
o

nd everygduct shoul

e used efficiently.

adable @hd nonbiodedradable wastes sh € sep [ ]
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